Lattice Multiplication (H)

Use lattice multiplication to find each product.

2 9 2 2 2 2 5 0 6
6 8 4
5 2 5
292 X 65 = 222 x 82 = 506 x 45 =
4 6 3 9 8 8 4 0 0
3 3 5
0 6 8
463 x 30 = 988 X 36 = 400 x 58 =
7 8 0 1 1 6 9 3 8
2 5 5
1 5 3
780 x 21 = 116 x 55 = 938 x 53 =
8 3 1 4 3 2 7 3 0
9 3 8
0 0 7
831 x 90 = 432 x 30 = 730 x 87 =
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Lattice Multiplication (H) Answers

2 9 2
1 5 ] 6
1 2 4 2
1 4 1 5
8 0 5 0
9 8 0

7 8 0

1 1 0 )
1 4 6 0
0 0 0 1
6 7 8 0
3 8 0

831 x 90 = 74,790

988 x 36 = 35,568

1 1 6

0 0 3 5
0 5 5 0
0 0 3 5
6 5 5 0
3 8 0

116 x 55 = 6,380

432 x 30 = 12,960

Use lattice multiplication to find each product.

730 x 87 = 63,510
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